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� EMBED Equation.3  ���





me=9.1 x 10-31 Kg


mH=1.66 x 10-27 Kg


k= 1.38 x 10-23 J/K


h=6.626 x 10-34 JS 


c=3 x 108 m/s


e=-1.6021 x 10-19 C


RH=13.5992 eV


1 eV = 1.6 x 10-19 J = 7,740 K = 6 x 105 m/s


1 atm = 760 Torr (mm Hg) = 101325 N/m2 (Pascal)    


1 bar = 105 Pa
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� EMBED Equation.3  ���





 n(r) = ∫ ntotal . f (r, v) dv 


 <v(r)> = ∫ ntotal . v . f (r, v) dv	


 <p(r)> = ∫ ntotal . mv . f (r, v) dv	


 <E(r)> = ∫ ntotal . ½ mv2 . f (r, v) dv	
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((Eionization = 6.96 . 10-9 ne1/3     [eV]





� EMBED Equation.3  ���





P = n k T


p = nekTe + nionkTi+ nakTa
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